# Lower Bounds of Functional Mean Code Word Length in Fuzzy Set 

Sangeeta Pandey ${ }^{1}$, Dr. R. P. Dubey ${ }^{2}$, Dr. P. Jha ${ }^{3}$<br>${ }^{1}$ Department of Mathematics, Rajiv Gandhi Govt. P.G.College,Ambikapur (C.G.)-India<br>${ }^{2}$ Department of Mathematics, Dr. C.V. Raman university Kargi Road, Kota, Bilaspur (C.G.)- India<br>${ }^{3}$ Department of Mathematics, Govt. D. K. P. G. College, Balodabazar (C.G.)-India


#### Abstract

In the present paper, we find lower bound of functional mean code word length in fuzzy set with existing knowledge of different code word length. We know that lower bound of functional mean code word length is measure of fuzzy entropy which satisfy all different properties of itself. By finding lower bounds of different mean code word length, different measure of entropies in fuzzy set can be found which are very important in present. Keywords: Mean code word length, Kraft's inequality, measure of entropy and fuzzy entropy, measure of directed divergence and fuzzy directed divergence,


## I. INTRODUCTION

Let $\left(x_{1}, x_{2}, x_{3}, \ldots \ldots \ldots x_{n}\right)$ be $n$ inputs which have to be encoded in terms of an alphabet of size $D$. Let $l_{1}, l_{2}, 1_{3}, \ldots \ldots, l_{n}$ be the $n$ codeword lengths and let $p_{1}, p_{2, \ldots \ldots \ldots, \ldots}, p_{n}$ be the probabilities ,the arithmetic mean $L$ of codeword length is

$$
\begin{equation*}
L=\sum_{i=1}^{n} l_{i} p_{i} \tag{1}
\end{equation*}
$$

Shannon showed that the minimum value of $L$ subject to Kraft's inequality $\sum_{i=1}^{n} D^{-l_{i}} \leq 1 \ldots$. (2)
lies between $\mathrm{S}(\mathrm{P})$ and $\mathrm{S}(\mathrm{P})+1$, where $\mathrm{S}(\mathrm{P})$ is given by $S(P)=-\sum_{i=1}^{n} p_{i} \log _{D} p_{i}$
After this Campbell considered more general exponential mean codeword length

$$
L_{\alpha}=\frac{\alpha}{1-\alpha} \log \left[\sum p_{i} D^{l_{i} \frac{(1-\alpha)}{\alpha}}\right], \alpha>0, \alpha \neq 1
$$

and showed that subject to (2) the minimum value of $L_{\alpha}$ lies between $R_{\alpha}(P)$ and

$$
R_{\alpha}(P)+1 \text { where } R_{\alpha}(P)=\frac{1}{1-\alpha} \log \sum_{i=1}^{n} p_{i}^{\alpha}, \alpha>0, \alpha \neq 1
$$

Extending the scope of study, Kapur has several mean codeword length .

One of Kapur's mean codeword length is

$$
L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left[\frac{\sum_{i=1}^{n} f\left(p_{i}\right) D^{(\alpha-1) l_{i}}}{\sum_{i=1}^{n} f\left(p_{i}\right)}\right]
$$

Here we introduced lower bound of Kapur's mean codeword length with the help of Kraft's inequality in terms of fuzzy set.

## II. MAIN RESULT

LOWER BOUND OF KAPUR 'S MEAN CODEWORD LENGTH $L_{\alpha}^{f}$ SUBJECT TO KRAFT'S INEQUALITY
We know that according to Kapur's mean codeword length given in equation (1) ,the Fuzzy Mean Codeword length is

$$
\begin{equation*}
L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left[\frac{\sum_{i=1}^{n}\left\{f\left(\mu_{A}\left(x_{i}\right)\right)+f\left(1-\mu_{A}\left(x_{i}\right)\right)\right\} D^{(\alpha-1) l_{i}}}{\sum_{i=1}^{n}\left\{f\left(\mu_{A}\left(x_{i}\right)\right)+f\left(1-\mu_{A}\left(x_{i}\right)\right)\right\}}\right] \ldots \tag{3}
\end{equation*}
$$

Now, we find the lower bound of this mean codeword length with respect to Kraft's inequality $\sum_{i=1}^{n} D^{-l_{i}}=k \leq 1$
$\qquad$
Suppose $\left\{f\left(\mu_{A}\left(x_{i}\right)\right)+f\left(1-\mu_{A}\left(x_{i}\right)\right)\right\}=A_{i} \& D^{-l_{i}}=y_{i}$
Then eq ${ }^{\mathrm{n}}(5.2) \& \mathrm{eq}^{\mathrm{n}}(5.3)$ become $L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left[\frac{\sum_{i=1}^{n} A_{i} y_{i}^{(1-\alpha)}}{\sum_{i=1}^{n} A_{i}}\right] \ldots \ldots \ldots . .(5)$

$$
\& \sum_{i=1}^{n} y_{i}=k \leq 1
$$

Applying Lagrange's method, we get,

$$
\begin{aligned}
& \frac{\partial}{\partial y_{i}}\left(\frac{1}{\alpha-1} \log \left[\frac{\sum_{i=1}^{n} A_{i} y_{i}^{(1-\alpha)}}{\sum_{i=1}^{n} A_{i}}\right]+\lambda\left(\sum_{i=1}^{n} y_{i}-k\right)=0\right. \\
& \Rightarrow \frac{-\sum_{i=1}^{n} A_{i} y_{i}^{-\alpha}}{\sum_{i=1}^{n} A_{i} y_{i}^{1-\alpha}}+\lambda=0 \\
& \Rightarrow A_{i} y_{i}^{-\alpha}=\lambda \sum_{i=1}^{n} A_{i} y_{i}^{1-\alpha} \\
& \Rightarrow A_{i} D^{\alpha l_{i}}=\lambda \sum_{i=1}^{n} A_{i} y_{i}^{1-\alpha} \\
& \Rightarrow \frac{A_{i}^{1 / \alpha}}{D^{-l_{i}}}=\left(\lambda \sum_{i=1}^{n} A_{i} y_{i}^{1-\alpha}\right)^{1 / \alpha}
\end{aligned}
$$

$$
\begin{aligned}
& \Rightarrow \frac{A_{1}^{1 / \alpha}}{D^{-l_{1}}}=\frac{A_{2}^{1 / \alpha}}{D^{-l_{2}}}=\ldots \ldots \ldots \ldots=\frac{A_{i}^{1 / \alpha}}{D^{-l_{i}}}=\left(\lambda \sum_{i=1}^{n} A_{i} y_{i}^{1-\alpha}\right)^{1 / \alpha} \\
& \Rightarrow \frac{A_{1}^{1 / \alpha}}{D^{-l_{1}}}=\frac{A_{2}^{1 / \alpha}}{D^{-l_{2}}}=\ldots \ldots \ldots \ldots=\frac{A_{i}^{1 / \alpha}}{D^{-l_{i}}}=\frac{\sum_{i=1}^{n} A_{i}^{1 / \alpha}}{\sum_{i=1}^{n} D^{-l_{i}}} \\
& \Rightarrow \frac{A_{1}^{1 / \alpha}}{D^{-l_{1}}}=\frac{A_{2}^{1 / \alpha}}{D^{-l_{2}}}=\ldots \ldots \ldots . .=\frac{A_{i}^{1 / \alpha}}{D^{-l_{i}}}=\frac{\sum_{i=1}^{n} A_{i}^{1 / \alpha}}{k}
\end{aligned}
$$

Minimum value of $D^{-l_{i}}=y_{i}=\frac{k A_{i}^{1 / \alpha}}{\sum_{i=1}^{n} A_{i}^{1 / \alpha}}$
Substituting this value in equation(5.4), we get minimum value of $L_{\alpha}^{f}$

$$
\begin{aligned}
& \operatorname{Min} L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left(\frac{\sum_{i=1}^{n} A_{i}\left\{\frac{k A_{i}^{1 / \alpha}}{\sum_{i=1}^{n} A_{i}^{1 / \alpha}}\right)^{1-\alpha}}{\sum_{i=1}^{n} A_{i}}\right) \\
& \operatorname{Min} L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left(\frac{\left(\sum_{i=1}^{n} A_{i} 1^{1-\alpha} A_{i}^{\frac{1-\alpha}{\alpha}}\right)}{\left(\sum_{i=1}^{n} A_{i}^{1 / \alpha}\right)^{1-\alpha}}\right) \\
& \text { Min } L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left(\frac{\sum_{i=1}^{n} A_{i}^{1 / \alpha} k^{1-\alpha}}{\left(\sum_{i=1}^{n} A_{i}^{1 / \alpha}\right)^{1-\alpha}}\right)
\end{aligned}
$$

$\operatorname{Min} L_{\alpha}^{f}=\frac{1}{\alpha-1} \log \left(\left(\sum_{i=1}^{n} A_{i}^{1 / \alpha}\right)^{\alpha}\right)-\log k$
$\operatorname{Min} L_{\alpha}^{f}=\frac{\alpha}{\alpha-1} \log \left(\sum_{i=1}^{n} A_{i}^{1 / \alpha}\right)-\log k$
$\operatorname{Min} L_{\alpha}^{f}=\frac{\alpha}{\alpha-1} \log \sum_{i=1}^{n}\left(\frac{\left\{f\left(\mu_{A}\left(x_{i}\right)\right)+f\left(1-\mu_{A}\left(x_{i}\right)\right)\right\}^{1 / \alpha}}{n}\right)+\frac{1}{\alpha-1} \log \frac{n^{\alpha}}{k^{\alpha-1}}$

Thus Min $L_{\alpha}^{f}$ lies between $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ and $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)+1$
Where $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=\frac{\alpha}{\alpha-1} \log \left(\frac{\sum_{i=1}^{n}\left\{f\left(\mu_{A}\left(x_{i}\right)\right)+f\left(1-\mu_{A}\left(x_{i}\right)\right)\right\}^{1 / \alpha}}{n}\right)$.
which is generalized measure of entropy of order $\alpha$ for any function in terms of fuzzy set.
Generalized measure of entropy $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ has different value for different function of

$$
\mu_{A}\left(x_{i}\right)
$$

Suppose $f\left(\mu_{A}\left(x_{i}\right)\right)=\mu_{A}^{\beta}\left(x_{i}\right)$, then by $\mathrm{eq}^{\mathrm{n}}(6)$

$$
\begin{equation*}
M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=\frac{\alpha}{\alpha-1} \log \left(\frac{\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}}{n}\right) \ldots \ldots \tag{7}
\end{equation*}
$$

$$
\alpha<1, \beta>1
$$

## III. PROPERTIES OF ${ }^{M_{\alpha}^{f}}\left(\mu_{A}\left(x_{i}\right)\right)$

1) $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is the minimum value of an exponentiated mean so it will always be non - negative.
2) $\quad M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is minimum iff A is a non fuzzy set.

For $\mu_{A}\left(x_{i}\right)=0, M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=0$
and when $\mu_{A}\left(x_{i}\right)=1$ we get $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=0$
3) When A is most fuzzy set, and then $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is maximum.

$$
\text { For maximum, } \frac{\partial M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)}{\partial \mu_{A}\left(x_{i}\right)}=0
$$

We can write eq ${ }^{\mathrm{n}}$ (5.6) as

$$
\begin{align*}
& \left.M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=\frac{\alpha}{\alpha-1} \log \left(\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}\right)-\frac{\alpha}{\alpha-1} \log n \\
& \frac{\partial M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)}{\partial \mu_{A}\left(x_{i}\right)}=\frac{\beta}{\alpha-1}\left[\frac{\left.\left(\mu_{A}^{\beta-1}\left(x_{i}\right)-\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta-1}\right)\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{\frac{1-\alpha}{\alpha}}}{\left.\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}}\right]  \tag{5.7}\\
& \frac{\partial M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)}{\partial \mu_{A}\left(x_{i}\right)}=0 \text { gives }\left(\mu_{A}^{\beta-1}\left(x_{i}\right)-\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta-1}=0\right. \\
& \Rightarrow \mu_{A}^{\beta-1}\left(x_{i}\right)=\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta-1} \\
& \Rightarrow \mu_{A}\left(x_{i}\right)=1-\mu_{A}\left(x_{i}\right) \\
& \Rightarrow \mu_{A}\left(x_{i}\right)=\frac{1}{2}
\end{align*}
$$

So at $\mu_{A}\left(x_{i}\right)=\frac{1}{2}, M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ has maximum or minimum value.
For this, we differentiate $\mathrm{eq}^{\mathrm{n}}(5.7)$ again

$$
\begin{aligned}
& \frac{\partial^{2} M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)}{\partial\left(\mu_{A}\left(x_{i}\right)\right)^{2}}=\frac{\beta(\beta-1)}{\alpha-1}\left(\mu_{A}^{\beta-2}\left(x_{i}\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta-2}\right)\left[\frac{\left.\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{\frac{1-\alpha}{\alpha}}}{\left.\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}}\right] \\
& \quad+\frac{\beta}{\alpha-1}\left(\mu_{A}^{\beta-1}\left(x_{i}\right)-\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta-1}\right) \frac{d}{d x}\left[\frac{\left.\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{\frac{1-\alpha}{\alpha}}}{\left.\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}}\right]
\end{aligned}
$$

Which is less than zero for $\alpha<1, \beta>1$
So , at $\mu_{A}\left(x_{i}\right)=\frac{1}{2}, M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ has maximum value.

$$
\left[M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)\right]_{M a x}=\frac{\beta-1}{1-\alpha} \log 2
$$

4) Since $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is an increasing function of $\mu_{A}\left(x_{i}\right)$ for $0 \leq \mu_{A}\left(x_{i}\right) \leq \frac{1}{2}$.i.e

$$
\begin{aligned}
& \left\{M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right) / \mu_{A}\left(x_{i}\right)=0\right\}=0 \\
& \quad \text { and }\left\{M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right) / \mu_{A}\left(x_{i}\right)=\frac{1}{2}\right\}=\frac{\beta-1}{1-\alpha} \log 2>0 \text { for } \alpha<1, \beta>1
\end{aligned}
$$

5) Since $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is decreasing function of $\mu_{A}\left(x_{i}\right)$ for $\frac{1}{2} \leq \mu_{A}\left(x_{i}\right) \leq 1$

$$
\begin{aligned}
& \text { i.e. }\left\{M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right) / \mu_{A}\left(x_{i}\right)=\frac{1}{2}\right\}=\frac{\beta-1}{1-\alpha} \log 2 \text { and } \\
& \left\{M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right) / \mu_{A}\left(x_{i}\right)=1\right\}=0
\end{aligned}
$$

So, $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ is a concave function.
6) $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ does not change when $\mu_{A}\left(x_{i}\right)$ is replaced by $1-\mu_{A}\left(x_{i}\right)$

$$
M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=M_{\alpha}^{f}\left(1-\mu_{A}\left(x_{i}\right)\right)
$$

Now we study the monotonic behavior of $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$. For this, different values of $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ by parameters has been calculated and further the generalized measure has been presented graphically.
We have from eq ${ }^{\text {n }}$ (7)
$M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)=\frac{\alpha}{\alpha-1} \log \left(\frac{\sum_{i=1}^{n}\left\{\mu_{A}^{\beta}\left(x_{i}\right)+\left(1-\mu_{A}\left(x_{i}\right)\right)^{\beta}\right\}^{1 / \alpha}}{n}\right)$ where $\alpha<1, \beta>1 \& \alpha \neq 0$
a) Suppose $\alpha=\frac{1}{2}, \beta=2$

b) $\alpha=-\frac{1}{2}, \beta=2$

c) $\alpha=-\frac{1}{2}, \beta=3$

d) $\alpha=-1, \beta=3$


Thus, we found that value of $M_{\alpha}^{f}\left(\mu_{A}\left(x_{i}\right)\right)$ given by eq ${ }^{\mathrm{n}}(7)$ satisfy all properties of fuzzy entropy. Also by assuming different values of $f\left(\mu_{A}\left(x_{i}\right)\right)$, we get different fuzzy mean codeword length whose lower bounds are expressed as fuzzy entropies.

## IV. CONCLUSION

In this paper, by developing new fuzzy code word length ,we found lower bound of this fuzzy code word length which are expressed as measure of fuzzy entropies. We get this by existing knowledge. This generalisation are very important in present .Also we have proved properties of above fuzzy entropy and with the help of data, we have represented it graphically.

## REFERENCES

[1] Autar R. and Soni R.S. (1975), "Inaccuracy and a coding theorem ". J.App.Prob.Vol.12,845-851.
[2] Autar R. and Soni R.S. (1976), "Generalised Inaccuracy and a coding theorem". Proc. Ind.Acad.Sci.Vol.84A No. 5,204-209.
[3] Campbell L.L.(1965), "A coding theorem and Renyi's entropy".Int.Control.Vol.8,423-425.
[4] Campbell L.L.(1965)," Definition of Entropy by Coding Problems." Int. Z warschein hckke theorem verie Cral 6,113-118.
[5] Kapur, J. N.( 1984), "Some New Measure of Inaccuracy." IIT Res.Rep.No.246.
[6] Kapur, J. N.( 1991),"Inaccuracy Entropy and Coding Theory." Tamkang Journal of Maths, Vol. 18,35-48.
[7] Kapur,J.N.(1991),"A Note on Coding theorems for information theory."Nat.Acad.Sec.Letters 14(4).
[8] Kapur, J.N.( 1994), "Proofs of Holder's and Shannon'sinequalities via coding theory." Mathematical Sciences Trust Society, New Delhi Res Rep. No. 669.
[9] Kapur, J. N. ( 1996), "Measure of Fuzzy Information." Mathematical Sciences Trust Society, New Delhi.
[10] Kapur, J. N.( 1998), "Entropy and Coding." Mathematical Sciences Trust society, New Delhi.
[11] Lango G.(1976),"A noiseless coding theorem for sources having utilities."SIAM Joun.Math3(4),739-748.
[12] Nath P.(1976),"Inaccuracy and Coding theory."Metrika. Vol.24,123-135.
[13] Nath P.(1977),"Some theorems on Noiseless coding." $315-367$. .
[14] Renyi, A. (1961), "On measures of entropy and information, Proceedings of the Fourth Berkeley symposium on Mathematical Statistics and probability." Berkeley; CA: University of California Press, 547-561.
[15] Shannon, C. E. (1948), "A Mathematical theory of communication." Bell system Techenical Journal, 27, 379-423, 623-656.
[16] Sharma B.D.and Mittal D.P.(1985), "New Non-Coding theorem of non-additive generalised mean value entropy measures."Jour Inf.Opt.Sciences,10(3-4).

do
cross ${ }^{\text {ref }}$
10.22214/IJRASET


IMPACT FACTOR: 7.129

TOGETHER WE REACH THE GOAL.

IMPACT FACTOR:
7.429

## INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE \& ENGINEERING TECHNOLOGY
Call : 08813907089 @ (24*7 Support on Whatsapp)

